
Samsung Electronics5-1

5. Exploded Views and Parts List

5-1 Indoor Unit

2

4 5

16

6

7

11

14

15

12

10

9 17

13

2-2

2-1

3-2

1-41-3

3-1

1-1
1-2

8-3

8-1

8-2

8-4

8-6

8

8-5



Samsung Electronics

Exploded Views and Parts List

5-2

 Parts List

No. Code No. Description Specification
Q’TY

SA/SNA
AQV18AWAN

1 DB94-01547A ASSY-BODY BACK ASSY 1 SA

1-1 DB61-03344A BODY BACK HIPS 1 SNA

1-2 DB62-05163A SEAL-INSUL BODY REAR EPS(30) 1 SNA

1-3 DB63-01851A COVER-MPI HIPS 1 SA

1-4 DB93-04230B ASSY-COMPACT MPI ASSY 1 SA

2 DB92-01120A ASSY GRILLE ASSY 1 SA

2-1 DB64-01880C GRILLE-AIR INLET ABS 1 SNA

2-2 DB63-01860B COVER-DISPLAY ABS 1 SNA

3 DB92-01119A ASSY PANEL FRONT ASSY 1 SA

3-1 DB64-01882A PANEL FRONT HIPS 1 SA

3-2 DB94-01614B ASSY-GUARD AIR FILTER ASSY 2 SA

4 DB63-01852A COVER-TERMINAL ABS(V0) 1 SA

5 DB67-00855B CAP-SCREW HIPS 3 SA

6 DB93-05537A ASSY CONTROL IN ASSY 1 SA

7 DB63-01859A COVER-PBA SGCC-M 1 SA

8 DB94-01549B ASSY TRAY DRAIN ASSY 1 SA

8-1 DB63-01853A TRAY DRAIN ABS 1 SNA

8-2 DB63-01861A TRAY-STABILIZER ABS 1 SA

8-3 DB61-03341B BLADE-H ABS 1 SA

8-4 DB61-01976B BLADE-V PP 2 SA

8-5 DB73-00180A RUBBER-CAP DRAIN GUM-EPM 1 SNA

8-6 DB94-00458B ASSY DRAIN-HOSE ASSY 1 SA

9 DB96-08223B ASSY EVAP-TOTAL ASSY 1 SA

10 DB61-03346A HOLDER-EVAP HIPS 1 SA

11 DB31-00479A MOTOR FAN 0.3A,50/60Hz,35W,220/240V,1350rpm 1 SA

12 DB94-00455B ASSY BEARING-RUBBER ASSY 1 SA

13 DB94-01550A ASSY-CROSS FAN ASSY 1 SA

14 DB61-03335A HOLDER-PIPE HIPS 1 SA

15 DB90-03483A ASSY PLATE-HANGER SGCC-M 1 SA

16 DB61-03334A SUPPORT-EVAP HIPS 1 SA

17 DB61-03361A BRACKET-EVAP SGCC-M 1 SA



5-3                                                                                                                                                                                               Samsung Electronics

Exploded Views and Parts List

  

 Parts List

No. Code No. Description Specification
Q’TY

SA/SNA
AQV24AWAN

1 DB94-01547A ASSY-BODY BACK ASSY 1 SA

1-1 DB61-03344A BODY BACK HIPS 1 SNA

1-2 DB62-05163A SEAL-INSUL BODY REAR EPS(30) 1 SNA

1-3 DB63-01851A COVER-MPI HIPS 1 SA

1-4 DB93-04230B ASSY-COMPACT MPI ASSY 1 SA

2 DB92-01120A ASSY GRILLE ASSY 1 SA

2-1 DB64-01880C GRILLE-AIR INLET ABS 1 SNA

2-2 DB63-01860B COVER-DISPLAY ABS 1 SNA

3 DB92-01119A ASSY PANEL FRONT ASSY 1 SA

3-1 DB64-01882A PANEL FRONT HIPS 1 SA

3-2 DB94-01614B ASSY-GUARD AIR FILTER ASSY 2 SA

4 DB63-01852A COVER-TERMINAL ABS(V0) 1 SA

5 DB67-00855B CAP-SCREW HIPS 3 SA

6 DB93-05537A ASSY CONTROL IN ASSY 1 SA

7 DB63-01859A COVER-PBA SGCC-M 1 SA

8 DB94-01549B ASSY TRAY DRAIN ASSY 1 SA

8-1 DB63-01853A TRAY DRAIN ABS 1 SNA

8-2 DB63-01861A TRAY-STABILIZER ABS 1 SA

8-3 DB61-03341B BLADE-H ABS 1 SA

8-4 DB61-01976B BLADE-V PP 2 SA

8-5 DB73-00180A RUBBER-CAP DRAIN GUM-EPM 1 SNA

8-6 DB94-00458B ASSY DRAIN-HOSE ASSY 1 SA

9 DB96-08223A ASSY EVAP-TOTAL ASSY 1 SA

10 DB61-03346A HOLDER-EVAP HIPS 1 SA

11 DB31-00479A MOTOR FAN 0.3A,50/60Hz,35W,220/240V,1350rpm 1 SA

12 DB94-00455B ASSY BEARING-RUBBER ASSY 1 SA

13 DB94-01550A ASSY-CROSS FAN ASSY 1 SA

14 DB61-03335A HOLDER-PIPE HIPS 1 SA

15 DB90-03483A ASSY PLATE-HANGER SGCC-M 1 SA

16 DB61-03334A SUPPORT-EVAP HIPS 1 SA

17 DB61-03361A BRACKET-EVAP SGCC-M 1 SA



                         5- 4  

5-2 Outdoor Unit

Samsung Electronics

2

1

6

7

5

17
30

10

14

119
27

12
26

2524

3

21

20

4

16

1529
23
22 19

28

13

18

8

28-1 29-1

29-1



5-5 Samsung Electronics

Exploded Views and Parts List

 Parts List

No. Code No. Description Specification
Q’TY

SA/SNA
AQV18AWAX

1 DB90-03914A ASSY CABI FRONT ASSY 1 SA

2 DB63-00838A GUARD FAN PP, SC-90073R 1 SA

3 DB90-00970V ASSY BASE OUT ASSY 1 SA

4 DB61-01593A BRACKET-VALVE SECC-P, SC-90073T 1 SA

5 DB31-00264D MOTOR FAN 230V/50Hz, 4.0μF/450VAC 1 SA

6 DB67-00142A FAN-PROPELLER AS+GF20% 1 SA

7 6001-001683 SCREW-HEX M4,L10 4 SA

8 DB60-30020A SCREW-MACHINE M6,ZPC(WHT) 1 SA

9 DB61-00686A BRACKET MOTOR SGCC-M 1 SA

10 DB90-10616G ASSY CABI UP ASSY 1 SA

11 DB94-01210B ASSY-PARTITION ASSY 1 SA

12 DB27-00043A COIL CHOKE-REACTOR 5mH, 20A, 50Hz 1 SA

13 DB96-04087B ASSY COND ASSY 1 SA

14 DB64-02120A SCREEN-COND BAR HSWR + PE coating 1 SA

15 DB90-01651E ASSY CABINET-SIDE RH ASSY 1 SA

16 DB90-03652A ASSY-COVER CONTROL ASSY 1 SA

17 DB90-01351A ASSY CABINET-LF ASSY 1 SA

18 G8T260FUAEW COMPRESSOR ROTARY 1 SA

19 6021-001142 NUT-HEXAGON FLANGE M5,ZPC(YEL) 1 SA

20 DB60-30028A SCREW-HEX M8,ZPC(WHT) 3 SA

21 DB63-00815A GROMMET ISOLATOR NR 3 SA

22 DB63-00816A COVER TERMINAL NORYL 1 SA

23 DB63-00817A GASKET EPDM RUBBER 1 SA

24 DB63-01719A FELT-COMP BASE FELT+PVC 1 SA

25 DB63-01668A FELT-COMP SIDE FELT+PVC 1 SA

26 DB63-02024A FELT-COMP SIDE OUT FELT+PVC 1 SA

27 DB63-02025A FELT-COMP TOP FELT+PVC 1 SA

28 DB96-08939B ASSY-VALVE 4WAY ASSY 1 SA

28-1 DB33-00002C SOLENOID-ASSY ASSY 1 SA

29 DB96-09092A ASSY-VALVE EEV ASSY 1 SA

29-1 DB62-02863A VALVE-EXPANSION BODY ASSY 1 SNA

29-2 DB62-03964A VALVE EXPAN-COIL ASSY 1 SNA

30 DB93-05539A ASSY CONTROL OUT ASSY 1 SA



Samsung Electronics 5-6

Exploded Views and Parts List

 Parts List

No. Code No. Description Specification
Q’TY

SA/SNA
AQV24AWAX

1 DB90-03914A ASSY CABI FRONT ASSY 1 SA

2 DB63-00838A GUARD FAN PP, SC-90073R 1 SA

3 DB90-00970V ASSY BASE OUT ASSY 1 SA

4 DB61-01593A BRACKET-VALVE SECC-P, SC-90073T 1 SA

5 DB31-00264D MOTOR FAN 230V/50Hz, 4.0μF/450VAC 1 SA

6 DB67-00142A FAN-PROPELLER AS+GF20% 1 SA

7 6001-001683 SCREW-HEX M4,L10 4 SA

8 DB60-30020A SCREW-MACHINE M6,ZPC(WHT) 1 SA

9 DB61-00686A BRACKET MOTOR SGCC-M 1 SA

10 DB90-10616G ASSY CABI UP ASSY 1 SA

11 DB94-01210B ASSY-PARTITION ASSY 1 SA

12 DB27-00043A COIL CHOKE-REACTOR 5mH, 20A, 50Hz 1 SA

13 DB96-04087B ASSY COND ASSY 1 SA

14 DB64-02120A SCREEN-COND BAR HSWR + PE coating 1 SA

15 DB90-01651E ASSY CABINET-SIDE RH ASSY 1 SA

16 DB90-03652A ASSY-COVER CONTROL ASSY 1 SA

17 DB90-01351A ASSY CABINET-LF ASSY 1 SA

18 G8T260FUAEW COMPRESSOR ROTARY 1 SA

19 6021-001142 NUT-HEXAGON FLANGE M5,ZPC(YEL) 1 SA

20 DB60-30028A SCREW-HEX M8,ZPC(WHT) 3 SA

21 DB63-00815A GROMMET ISOLATOR NR 3 SA

22 DB63-00816A COVER TERMINAL NORYL 1 SA

23 DB63-00817A GASKET EPDM RUBBER 1 SA

24 DB63-01719A FELT-COMP BASE FELT+PVC 1 SA

25 DB63-01668A FELT-COMP SIDE FELT+PVC 1 SA

26 DB63-02024A FELT-COMP SIDE OUT FELT+PVC 1 SA

27 DB63-02025A FELT-COMP TOP FELT+PVC 1 SA

28 DB96-08939A ASSY-VALVE 4WAY ASSY 1 SA

28-1 DB33-00002C SOLENOID-ASSY ASSY 1 SA

29 DB96-09092A ASSY-VALVE EEV ASSY 1 SA

29-1 DB62-02863A VALVE-EXPANSION BODY ASSY 1 SNA

29-2 DB62-03964A VALVE EXPAN-COIL ASSY 1 SNA

30 DB93-05539B ASSY CONTROL OUT ASSY 1 SA



5-3 ASSY CONTROL IN  DB93-05537A

DB93-05537A PARTLIST
NO CODE DESC_SPEC PARA1 PARA2 Q’TY

1 DB61-03345A CASE CONTROL IN MONTBLANC2 ABS 1
2 DB65-00004U TERMINAL BLOCK[1(L),2(N),F1,F2) 18K/24K INV 1
3 DB93-05538A ASSY-PCB IN 18K/24K INV 1
4 DB61-02942A PLATE CONTROL IN MODERATO 1
5 DB61-01097A HOLDER - WIRE CLAMP ABS 1
6 6001-000929 SCREW PH M3*L22 1
7 DB97-02418A SCREW TH M4*L14 3
8 DB93-01638D ASSY POWER CORD 18K 3WIRE 0

DB93-04654A ASSY POWER CORD 24K 3WIRE 0
9 DB95-01113A ASSY THERMISTOR 4P 1
10 DB93-04688A ASSY C/W LOUVER 5P± 1
12 DB39-01174A ASSY C/W - T/B(1) 1P BRN 0
11 DB93-05657A ASSY C/W MAIN TO DISPLAY ALL 1
13 3501-000305 RELAY POWER 30A 0
14 DB93-04339K CONNECT WIRE mm AWG#14 RED 0
15 DB93-04339L CONNECT WIRE mm AWG#16 SKY/BLU 0
16 DB93-04339N CONNECT WIRE mm AWG#16 BRN 0
17 DB93-04339J CONNECT WIRE mm AWG#14 SKY/BLU 0
18 DB93-04339M CONNECT WIRE mm AWG#16 BRN 0
19 DB93-04339K CONNECT WIRE mm AWG#14 RED 0
20 DB39-01210B ST730619-3,175022-1(AMP), RED/BLUE 1

Samsung Electronocs               5-7




